Year 3 Maths Home Learning w/c: 16-11-20

Monday -

Adding a 3-digit number and 10s

Discover

Sa0d

0 a) The birch tree is 10 years older than the beech tree.

The horse chestnut is 20 years older than the beech tree.
Use addition to work out their ages.

b) Represent the addition for the horse chestnut on a number line.

76

ED

a) 184 + 10 can be solved like last

lesson but 184 + 20 is different.

8 tens + I ten = 9 tens O&@
184 + 10 = 194 e
The birch tree is 194 years old.

H T | o
Joo3
E;
\ g J
H T 0
ammn
184 + 20 = 204

The horse chestnut tree is 204 years old.

YT wg g

184

1 wonder if I could add 16 and then add 4?
But that wouldn’t be as clear as adding 2 tens.

184 +10 = ? 7
I can add the 10s.

184 +20=7
I will add the 10s.
8 tens + 2 tens = 10 tens

There are 10 tens. I don't
think 1,104 is correct.

| —

Exchange 10 tens
for I hundred.




Thlnk together e A cypress tree is 385 years old.

Complete the information in the table.
It looks like one

n The oak tree is 50 years older than the beech tree. Time Calculation | Age of tree Spgs e
How old is the oak tree? missing number
Present day 385+ 0 C] years problem.
H T 0 J
S (ARAdRRRR) oo 30 years from now | 385 + 30 D years

UL R 60 years from now | 385 + D D years

D years from now | 385 + D 475 years

184 + 50 =

The oak tree is D years old. ° For which of these calculations do you need to
exchange 10 tens for | hundred?

a A giant redwood tree is 260 years old. 60 +365=7? E‘ + IZ‘ /
30

How old will it be in 90 years? ¥

H T o — ——

. , 0000-00000

Iwilladd in a
different order.

- Iknow what to do for
365 + 60, but what

260 + 90 = D about 60 + 365?
The giant redwood will be D years old.
78 7

-» Practice book 3A p57




-+ Taxtbnok 34 pTé

Adding a 3-digit number and 10s

o There are 475 people already visiting the castle.

Unit 2: AddRion and subiraction (1], Lesson &

The coach brings 50 more people.

Howr rmary people are visiting the costle now?

H | v | o

475 +D=‘:]

There are D people visiting the castle now.

Richard is using drowings and place value equipment to solve these
calculations. Complete his additions.

Unit 2: Addkion and subtraction (1] Lesson &

a Cam ple‘l:e the rissing nurmbers.

al Bﬁ+ql:l=:]
3] 3?I+ED=D+ ]
) D =40 + 59

ﬁ What mistake has Isla made? @

d) 20 +[: =319
e} &0 marethun?ﬁlisD
1) I5D=D + 90

80 + 538
Btens + 3 tens = Il tens
80 + 538 =El&

N
ﬂ
-ﬁ Solve these additions.

ulzqmm:[j < 2M+BH=D e}z?mqn:[j
h1|:]=qn+3za d}D:TD+3ﬁE ﬂD=5n+3EE

Explain any patterns that you noticed.




Unk 2: Additicn and sublratian (1), Lessan&

-B Complete each addition to motch each answer shown
on the number line.

I can find more than one
addition far some calculations.

When I add a 3-digit number and tens, I know I will need to
exchange 10 tens for | hundred if

g1



Tuesday -

7 Unit 2: Additian and subtraclion (1), Lesson 7

Unit 2: Addition end sublraction (1), Lessen 7

Subtracting 10s from a 3-digit number

Discover

CanIhave 20 m
of the dinosaur
fabric, please?

a)210-20=7

gbo
HHH
o
E -
- -
[(NUNNEREEEN §

© Twill try subtracting the tens.

20-10=10

~ You have to
So is the answer 210 m left? exchange | hundred
That can’t be correct; that's for 10 tens.

what I started with.

Il tens — 2 tens = 9 tens H T
210 -20= D
Jen has 190 m of dinosaur
fabric left.
b) m-D:mo P
-50 —
o a) Jen has 210 m of dinosaur fabric to sell.
How much is left after she sells 20 m? E‘/’Tf } ' ;\=
b) Jen sells some more dinosaur fabric. Now she has 140 m left. 180 190
How much did she sell? Jen has sold 50 m more dinosaur fabric.

80 8l



7

n and sublraction (1), Les Unit 2: Addition and sublraction (1), Lessan 7

Thln k tog eth er o What calculation does the number line show?
0 Jen has 335 m of space fabric and sells 50 m. /— \
: 5 k } } } } } t + } } |
Howmuchisletts 380 390 400 410 420
H T (0] H T (0]

= me T =eei
o P —

Flo has represented her exchange using a
D tens - D tens = Dtens part-whole model.
335 - 50 = Explain the calculation and the method used here.
There is D m of space fabric left. ’ @
My part-whole model
Toshi has 80 m of bee fabric to sell. Jen has 213 m of @ @ o is a different way of
bee fabric to sell. showing 235.

How much more bee fabric does Jen have than Toshi? i

agaea

o t :z: I think this is a find = :
: g the difference. I can

use subtraction. E E

283 O 80.= D il Think of your own word problem to go with this calculation.
Jen has D m of bee fabric more than Toshi.

82 & & :
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Unit 2: AddRiOn and subtraction (1), Lesson T -* Tasthook 34 pBD

Subtracting 10s from a 3-digit number

o a) Lucos's book has 225 poges. He has read 70 pages.
How mary pages does he have left to read?

H T 8] H T 8]

12 tens - [:] tens = [j tens
25 -0 = [:] Lucas has pages left.

b} Sara’s book haos 231 pages. She has 60 pages left to read.
How mary has she already read?

H T 8] H T o]

23 - &0= | Sara has | |pm_:|e-5 left.

<) George has read 80 pages. His dod has read 215 pages.
Howr mary more pages has his dod read than George?

5O J-()

George's dod has read C] More poges.

Unk Z: Addtion and subtradian [1), Lessan 7

B Complete the part-whole model and missing base 10 equipment. @
Then complete the calculations.

a) k)

632
oy 1120 E) |
VAN AN Y

=] EFPTTTTrrY

= [asceninnaa]

=] [secenianan]

=] ECEETITTETY

a [eeeiineas)

a8 e erienas)
[scccsinaaa ]
CEEEHET
EFPTTITreTy
[seccsinaaa}
freeerieead)
[ .-
CECCrY

326 - 60 = 632 — B0 =
B Find the missing numbers.
30 less Number 30 more
215 245
3l&
300

a Complete the calculations.

a) 360-60=[ | ) 350-60=]
b) [:]=le -70

&l




Unit 2. &ddRion and subiraction (1), Lesson 7

e Complete the calculations to match each answer shown on the
number line.

Reena thinks of a number. She adds 90, then adds 80,

then adds 70. She finishes an a number with the digits
I. 2 and 3. What numbers could she hawve started on?

1 kmow 15 — 8 5o I can work out 251 — 80 by

62



Wednesday -

fition and sublraction (1), L&

Addmg and subtractlng a 3-digit and m__ ‘
a 2-digit number |

I U
I | | i Now we are addmg 10s and Is.

. O\ (o) HTO
Discover ~> J/ Fnrst we add : E I 4
i ama the Is. ; + 417

N ]
N/
(o] HT O
Then we add \ : I[4]!
. the 10s. l - 4|7
141 miles 3300 8)8
sl \ fo) HTO
e — (ORa ] Then we add
—= . - / it 4 7
::H’! 8 8
141 + 47 = 188
Holly's journey is 188 miles in total.
b) It is 14l miles from Leicester to Bath. H T | o)
Holly has travelled Il miles.
‘ a) Holly drives from Leicester to Bath. She then drives to )
Weston-super-Mare. First subtract | from the ones.
How many miles is Holly's total journey? Then subtract | ten.
b) She has driven Il miles from Leicester. 141 - 11 =130
How far left to Bath? It is still 130 miles to Bath.
.

84 85



tion and sublraction (1),

Think together

0 Jack has already driven 74 miles on A e
the way to Cardiff from Norwich. -

How much of the journey is left?

HTO

.

There are D miles left of

the journey.

a Kay has driven 2| miles already.

How much of the journey is left?

H T 0

e

.
-

PY

274 miles

/
) /s 133 miles

‘\ Sheffield

e How far is the total journey?

HTO

The total journey is D miles.

Discuss the different methods
these calculations.

609 -7
938 - 26

130 + 51
84l - 60

1 would write
columns

. Ican do some of
these mentally.

or write the

I would solve
mentally

I would check using equipment

Unit 2: Addition and sublraction (1), Lesson 8

[ Blackpool | !
~ p 52 miles f'

209 miles
| London |
. — ——

you would use to solve

48 + 431
205 + 50

234 + 52

I would
check using
equipment

calculation down.

- Practice book 3A pé3 |




-+ Tanthook 4 pBd

Adding and subtracting a 3-digit and
a 2-digit number

a) On Mondaoy o postman delivered 152 letters. On Tuesdoy he
delivered 37 letters. How marny letters did he deliver in total?

Urit 2: &ddkion and subtraction (1], L=s=en B

H T 0
on HTO

s2em-[ ]

He deliversd [: letters in total.

b) On Friday. the postman delivered 41 fewer letters than on
Monday. How many letters did the postrman deliver on Fridoy?

H T )
on

HTo

I52—D=[:]

He delivensd D letters on Friday.

Unit 2: &ddkion and subriraction [1). Lesson B

ﬁ Match the calculations to the pictures.
‘Which one does not have a matching picture?

EEE
E 0000000
OOOOOOOO

l

—

4l + 125

96 — 323 e - &l 101 + 24

33 + 342 399 - 2| 177 -5

B Complete the calculations. Invent another for the pattem in

each colurmn.
|||+||=[:| |23+||=[:

I+ 22 = 123 + 22 = qQar - = deb
I +33 = I23+D=IEE qQarT - = 954
Il +55 = I23+D=I?B - 55 =032

(D O D o G o D O Oy D B

)

64




Unk 2: Addtion and sublraian [1). Lessan 2

-B Complete the caloulations.

H
|

=
=]
I
-
o

+
B o
Bl id

oo

(Oo)-C)  Jod-0)

'a' Fillin the missing digits and write the calculations in full.

HTO HTO
7 B a

+ 4 - 3
2 9 & 4 &

JoL)-J) CJod-Ld

Corwince your partner that 453 + 4l = 494 and 453 - 4] = 412

[-1-3



and sublraction (1), Lessoen 9

Adding a 3-digit and a 2-digit number

y
d O
&% First add the = -—';—;———9—
i 4 Is. Exchange 10 HH
ones for I ten. 1% .
>/ LBl
- lgl=
i =
2 0 HTO
Then add the \ 2(7)5
10s. Don’t 5 ile
forget the L Nl S
exchanged 10. a |
z O
-  —— H][T]oO HTO
Large fish tank £275 X And then add 7 5
| the 100s. igiiilg J15 G
Fish tank pump £16 N s
4 9 i
Clownfish £61 each 275 + 16 = 291 ; |
Zebrafish £45 each PR
; Zoe spends £291 altogether.
b) 45 + 61 = 106 H n o HToO
0 a) Zoe buys a large fish tank and a pump. ﬁﬂﬂ o, 4 5
fs
How much does Zoe spend altogether? ° ¥ 6
1 0 6
b) Aaron buys a zebrafish and a clownfish. igﬂi;g . —
i i ?
Hovwsmuthidoesitnisscastin tofal The zebrafish and the clownfish cost £106 in total.
L

88 89



Unit 2: Addition and subtraction (1), Lesson S

Think tog ether e Mark and Poppy wanted to write their additions in columns.
What mistakes did they make?

Unit 2: Addilion and sublraction (1), Lessan S

‘ Tia buys a large fish tank and a clownfish. - - — \
( Mark’s addition ) | Poppy’'s addition )
How much does she spend? -
HTO HTO
H T 0 HTO I 5k 16 4
mﬂﬁ st & 49 . 72 ¥ 27
6 | R W
I — I 2 6 8
]
How many different additions can you make
275 + 6l = D using these cards?
Tia spends ED in total. [ 3 { 3 3 ] 8 ] [ 8 }
Solve these additions: 126 + 57 and 156 + 27. ) ( )
What do you notice? Can you explain? ‘ J [ o+ ] ’
H T 0 H 1y @) ; ’
Eg il EBQE e Do any of your calculations add to the same total? Explain why.

Now I can solve any addition

1 ; an aa""" ' with 3 digits and 2 digits.
[_ \ — o’

HTO HTO I will make up some additions where
1 2 6 1 56 you exchange for both 10s and 100s.
- 5 7 + 2 7 ———
q0 - - ql

- Practice book 3A péé



Urit 2: Addktion and subtraction (1] Lesson 8 =+ Taodiook 34 p8

Adding a 3-digit and a 2-digit number
o a) The other sunflower is 23 am taller
What is its height?

H T o HTO
m | | | & 8
+ 2 3

|EB+23=[:]

The ather sunflower is C] cm tall.

b) A sunflower is 183 cm tall. It grows 51 o taller. How tall is it now?

H T 4] HTO
; | 8 2

o[-
MNows it is I:l cm tall.

Unk 2: Addtion and sublretian [1), Lessan 2

e- Complete this addition.

OO .
EOEOE tre
OO . oo -

e Sort the colculotions into three groups.

2328 + 71 827 + 3 72 + 38 27+ 18
318 +72 73l + 28 73+ 182 28 + 137
No Exchange Exchange
exchange 10 ones 10 tans
B Complete these additions.
a9 HTO 9 HTO & HTO
25 8 302 525
+ 4 7 + I 7 + T &

h}IEB+I3=B d}5n+s?2=[:| ) = 39 + 46|

&7




Unit 2: ABddkion and subtraction [1]. Lesson 9

£ Find the missing digits. @
a) 3D5+ED=£IE b) 35D+D}=ms

Use each number once. Write additions so that they
all have to exchange 10 ones and 10 tens.

I chiose the six pairs by

Explain how to add a 3-digit and a 2-digit number in three steps.

Step I:
Step 2:
Step 3:




2: Addilion end sublraction (1), Lessea 10

Subtracting a 2-digit number from a

3-digit number {J -‘/V’— th 7 7
h - . Luis has subtracted the  Luis should subtract 8 ones.
( PR N N Is in the wrong order. . He needs to exchange a ten.

Discover

b) 175 - 38 =

We planted
I75 new trees
last year.

38 did not
survive the
winter.

L

—— 7
You should first ﬁ : maaan
subtract 8 ones. + | : NNXNN
Then subtract
3tens.

-

pasoo
MANNR

0 a) How many new trees survived? :
WNNNN

Luis worked it out this way. What mistake did he make?

I will write it as \
columns. I wonder

HTO 7 tens - 3 tens = 4 tens HTO
175 8 ones - 5 ones = 3 ones. NS how to show the I °X's

- 38 So 175 - 38 = 143. exchange of | ten. -~ 38
I 4 3 i 37

75 - 38137

q2 q3

b) What is the correct answer?




Unit 2: Addilion and subltraction (1), Lesson 10

Unit 2: Addition and subtraction (1), Lesson 10

Think togeth er e How many more plum than apricot trees did they
plant in the orchard?

o Next autumn. they plant 246 new trees. 63 of them are blown down.

Trees Numbaer | 1am not sure whether
How many are left? planted to exchange a 10 or a
Apricot 43 100 first.
- ! 2 . L = Plum 221
el gn’ln1 g-‘"""
E;;g Apple 302 HTO
1 —
Walnut 65
s g B
= &
HTO -
246 - 63 = 2 46
- 6 3

° Flo is trying to work out 302 - 65 to find how many
more apple than walnut trees have been planted.

e They planted 55 oak trees and |91 birch trees.

. Ineedto H T 0
How many more birch did they plant? exchange a 30
ten, but 302 =
H T o HTO has 0 tens. | E
N 1 "
- 55
335393830 What should Flo do to solve the subtraction?
They planted D T You can check by doing an addition.
9% a5

- Practice book 3A pé9



-+ Teatbeock 34 91

Subtracting a 2-digit number from a
3-digit number

o There are 345 children at school on Thursday.

Unit 2 &ddkian and ;ubicion {1} L=sson 10

Unit 2: &ddkion and subtraction [1]. L=s=on 10

a Find 66 less thon each number shown. @

DOANIRNCEE

9 HTO

a) A minibus takes 27 children on a trip. How many children are left

in school ?
] HTO
-1 T- E
- 27
]
agaaa
ooooo
[=]=g:]=]=}

3&5—2?=|

There are children left in school.

b) On Friday there are 345 children at school. 54 children have
packed lunch. The rest have school dinners. How many school
dinners is that?

H T 4] HT O
andas

345 - G4 =

children have school dinners.

B Cu::mplete these subtractions.

a4 4TO 9 HTO
| 7 3 260
- &5 - 76

h}EEI—EE=[:] d) qas-tm:\:]

0 Use each digit card once to make a subtraction. Find five different
solutions and mark the results on the number line.

0 100 200 300 400 500 &00 VOO 800 900 1000

69 10




Unit 2: &ddion and subtrection (1), Lasson 10

a Find and comrect the mistoke in the subtraction. @

m-m:D HT O HTO
I § 7
_ 38 - 38
I 2 1

a Crack the code. Each symbaol represents one digit.
H T 8]

-
JAmA 5

CHA]

There have been ten lessans in this unit. Think about what you learnt.
What are the three most important things to remember?

2

ER

My fovourite lesson was

7l




